

GRADE 4 – MODULE 3:  PARENT GUIDE

Multi-Digit Multiplication and Division

Each day in class, we do practice sets. Attached are the answer keys to the Practice Sets from this module.  These answer keys can be used to refresh your child’s memory of work we did together in class and help you support your child with the math homework.  There is a footer at the end of each answer key that tells you the lesson number.  This lesson number corresponds with the lesson number on the homework sheets.  


Module 3 Contents:
	Topic A		Lessons 1 - 3
	Topic B		Lessons 4 – 6
	Topic C		Lessons 7 – 11
	Topic D	Lessons 12 – 13
	Topic E		Lessons 14 – 21
	Topic F		Lessons 22 – 25
	Topic G	Lessons 26 – 33
	Topic H	Lessons 34 – 38
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wame __Jack oate

1. Arectangular porch i 4 feet wide. It s 3 times as long as it s wide.

5. Label thediagram withth dimensions of the porch.
T O 123
ey

b, Findthe perimeter of the porch,
P= 2 (1vw)
=2 (234)
= 2x\b
=32

2. Anarrow rectangular banner i § nches wide. It is  times as ong as ftis wide.

©232 feek

3. Drawa diagram ofthe banner and label s diménsions.

b.. Find the perimeter and area ofthe banner.

Pz 2x(W)  P=70in. A= lxw  A=\50%qin.

= 2% (20+5) =25x5
=2%35 = 3res x5
=70 = 155 =150
I SN | S engage™
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Name _\S-CLC.\( Date

Draw a tape diagram and solve. The first two tape diagrams have been drawn for you. Identify if the group
size or the number of groups is unknown.

1. Monigue needs exactly 4 plates on each table for the banquet. If she has 312 plates, how many tables is

she able to prepare? 13
q Tﬁf (’(\m\io‘u.e s abk Yo preqace
2 The numoer ofF roues S
4 oxe Bass 32 LAENOWN -
(@)

2. 2,365 books were donated to an elementary school. If 5 classrooms shared the books equally, how many
books did each class receive? 4

52 3¢5
2365 -20 Zach class cecenwd
—A— g% 473 becks.
f ll% The Srou-p Size 1S3 uAKnoW) |
(o]

3. 1f 1,503 kilograms of rice was packed in sacks weighing 3 kilograms each, how many sacks were packed?

1,503 o\
/—M
\—‘ 31503 500K Lkre packed.
e0 The Aumber of roues '3
o5 unKnoLw .«
—
| COMMON Lesson 31: Interpret division word problems as either number of groups n
l CORE Date: ;7;(;7;;1 or group size unknown. engage y 3.G.68

This work is licensed under a
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4. Rita made 5 batches of cookies. There were a total of 2,400 cookies. If there were the same number of
cookles in each batch, how many cookies were in 4 batches?

2400

T TR

90 \4
Ll%o There wece V920 cookies
- 0 10 Y% bokches.

O
The. amg S12e S UNENoLON |

5. Every day, Sarah drives the same distance to work and back home. If Sarah drove 1,008 miles in 5 days,
how far did Sarah drive in 3 days?

\005

20

] ]

VY'u/

I'? COMMON [lﬂmﬂl‘
4 CORE )

© 2013 Common Core, inc. Some rights reserved. commongore.org

20\
/\m 1 O s
et o
—o6 6o
gs Dacan Acove. (O tites
_ ad .
-5 o
(o]
“The Sroup Shze S5 unkown |
%;ME;-';E;:ﬁx;ﬂ::ﬁimmenhmumem,gmm engageny 3.G.69

This work is licensed under a
i Creative C A n ialk-ShareAlike 3.0 Un; nse.





image64.jpeg
NYS COMMON CORE MATHEMATICS CURRICULUM Lesson 32 Problem Set

Name -:iqc.\( Date

Solve the following problems. Draw tape diagrams to help you solve. If there is a remainder, shade in a small
portion of the tape diagram to represent that portion of the whole.

1. A concert hall contains 8 sections of seats with the same number of seats in each section. If there are 248
seats, how many seais are in each section?

gﬁq?g‘ “There age 3\ Seads ¥

h\ - 2.'-:% [ac Sechon.
~5

2. In one day, the bakery made 719 bagels. The bagels were divided into 9 equal shipments. A few bagels
were left over and given to the baker. How many bagels did the baker get?

— =9

W rb': The tuker ot @ s,

11

#8 -]
8

3. The sweet shop has 614 pieces of candy. They packed the candy into bags with 7 pieces in each bag.
How many bags of candy did they fill? How many pieces of candy were left?

o4 $7 g5
1 g Caand
‘7\ ------- E =7 ’r\% fled T7 op ev oy,
femarnder

- 49 S Q\?-&S oQCm\A&Wm

ot S 5 \eft-
COMMON |l ittt eneage" s

' Date: 8/26/13
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4. There were 804 children signed up for the relay race. If there were 6 children on each team, how many
teams were made? The remaining children served as referees. How many children served as referees?

a0y 150 M
150 Yeams wese made.
ot o904 4 en serueh 05 ceferues,

rewaner 30
o4 -30,
o4
-0

l..i

5. 1,188 kilograms of rice are divided into 7 sacks. How many kilograms of rice are in 6 sacks of rice? How
many kilograms of rice remain?

\,\38 l Gq 2'5

713 169
femader  —yp 101
£8 — 5
_,035
“Yhere ase |, 014 Yo & e 30 6 Sacks of cixe,

5 Ke? ofF Clce cemein.

7 COMMON ' Lesson 32: interpret and find whole number quotients and remainders to solve ny
one-step division word problems with iarger divisors of 6, 7, 8, and 9. 3.G.80
CORE |, ows= engage'’ :cs

(2013 Cammon Core, |nc. Same rights reserved. commonare.o7g j T s Newaind 2
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Name M Date

1. Ursula solved the following division problem by drawing an area model.

loo 100 20 3

4 400 [%n ]86}[

a. What division problem did she solve? 8q 2 "." "‘ = 7_2’5

b. Show a number bond to represent Ursula’s area model and represent the total length using the
distributive property.

(ooz4)+ G
= o4+ ook 20+ 73
= 223

2. a. Solve 960 + 4 using the area model. There is no remainder in this problem.

b. Draw a number bond and use the long division algorithm to record your work from (a).

(360) qm?%‘g‘

\
= . -1b
&w ‘b"' C‘wf‘b 0
= 200 t+ 40 - 0
= 240 ©

7 COMMON | lesson3s: Explain the connection of the area mode! of division to the long

CORE | division algorithm for three- and four-digit dividends. eng ag e ny 3.G.92

Date: 8/26/13
® 2013 Common Core, 'nc. Some rights reserved. COMMONCOre.oTg
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3. Thearea of a rectangle s 42 square centimeters and it length i 7 centimeters.

2. Whatisthe width of the rectangle?

A= lxw g
o

Arlew

42476 W= Gem

b.. Charlie wants to draw a second rectangle that s the same length but is 3 times as wide. Draw and
Iabel Charlie’s second rectangle)\ ¥ C 0\

. Whatls the permete of Charie’s secondrecangle?
?=2x (\vw
cox(rg) P2 S0en
=2x 25

4. The area of Betsy's rectangular sandbox s 20 square feet. The longer side measures 5 feet.
‘The sandbox atthe park s twice as ong and twice as wide as Bets's.

2. Drawand labela disgram f etsy's 5. Drawand labla digramofthe sandbox
Sandbos. What s s perimeter? atthe park. Whatis s permeter?
et P=iger Bk p=2x (14w
TOsqfH| set = 2x (ovg)
ofk =2 '3
o= 2x (v =36
= 2y (514 N
i P23
=g
TN GReon [ === SRR engag e s
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3. a. Draw an area model to solve 774 + 3.

200 50 %

3| oo \50\2'4\

779 +3 = 253

b. Draw a number bond to represent this

c. Record your work using the long division
problem. @ algorithm. 2 53
31774
@ B> @ -6
(Ceox3)+ (so3)+ 04=3) - ‘\g

= 200+ 50+ % %Z‘{

= 253 -
4. a. Draw an area model to solve 1,584 3 2.

700 90 2

2 \ 1400

%o ,\\ S84 T2 =792

b. Draw a number bond to represent this
problem.

c. Record your work using the long division
algorithm.

i3
P \) 534
(® @ E
(o039 + (roxd)+ (U2 -\3
=700 + 90 % 2. o4
= 792 - 4

e

I' COMMON | tessonz:
CORE

Explain the connection of the area model of division to the iong

division algorithm for three- and four-digit dividends.
Date: 8/26/13

© 2013 Common Core, 'nc. Some rights reserved. commoncore.org

engage™
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Lesson 34 Problem Set

Date

1. Usethe associative property to rewrite each expression. Solve using disks and then complete the number

sentences.

a. 30x24

=(_3 x10)x24

D x(10x24)
=120

b. 40x43
=(@x10)x YD _
=4x(10x 43)
= 1720

c. 30x37
=@3x_10 )x 37
=3x(10x _27 )
=110

Lesson34:

I‘T‘ COMMON |
¢ CORE z}z;slue chart.

© 2013 Commen Core, Inc. Somma rights resefved. commoncore.ong

hundreds

tens ones

-

“é xig

(G

thousands hundreds tens ones
xio A “
g x1
° s 0 o0 b o0
. Y
thousands hundreds tens ones
z?

(&) o

Multiply two-digit multiples of 10 by two-digit numbers using a

This work s ficensed under a

ribution-NonCos

engage™’
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Lesson 34 Problem Set

2. Use the assoclative property and number disks to solve.

a. 20x27 Tuedreds | dens  |oneS
= @x\0)x27 o
= 2 xfilox27) :
=40

b. 40x31 ‘
= (4x10x3)
= Yx(ox3s))
= 1,240

3. Use the associative property without number disks to solve.

a. 40x34 340 b. 50x43 430
= G x10)x34 :‘3_:?‘(1; = Bx0)x43 5,75%
= '-lx@oxatﬁ ! = 5 x foxu3) 5
= 1,30 = 2,150
4. Use the distributive property to solve the following problems. Distribute the second factor.
a. 40x34 b. 60x 25
= @OK 30\*‘ @[ox "n :@OXQO)*' (60 XS)
= \;Loo+ \6O = 1,200 ¥+ 300
= \,BGO = \,SOO
I COMMON | ieson3s: Multiply two-digit multiples of 10 by two-digit numbers using a n
l. CORE ! octe: gﬁguw‘afn ’ y engage v 3.H.11
© 2013 Comman Core, Inc. Sama rights reserved. commonoore.org (& e ’J_"_":""'""""':m;n

my like 3.0 Unported License.
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Name &Ck

Use an area model to represent the following expressions. Then record the partial products and solve.

Date

1. 20x22
20 2
20% 20 | 20x2 22
20 |2Yers x 2 Yens| 2tensx2] — 8
A hundeds | Yyens 4o
Yoo Yo * 300
440
2. 50x41
4o |
50X 40 50x% | 41
5O Slens x dtens|siensx | X 50
20 hundee® | 5iens 50
2,000 50 * 2000
23950
3. 60x73
70 5
6OX 70
Glessx 7 fers f:"33 e
nSx
Co 42 Wundreds A %0
4200 1%0 + 4200
4330
B ggg}sMoN | Lgo'nBS: an/%:%xwlgztmump‘esofmbymmgnnumnersus:ngme engageny 3H21

= This work is licensad under
2 s Attribution NonCommerciak-

.0 Us ted




image71.jpeg
NYS COMMON CORE MATHEMATICS CURRICULUM

Lesson 35 Problem Set

Draw an area model to represent the following expressions. Then record the partial products vertically and
solve.
4. 80x32 5. 70x 54
20 £ 4 — o 4 gy
30X DO 30K x 80 70%x50 |70 x 70
gog\ensr?z’tensﬁ\% X2 \6O 70 -7hvsx5-\e's';;w Y T
A4 urdeeds ‘:’:g +2400 ?’i\;g"g‘* 20| +2%00
2400 2560 ‘ S8 a
Visualize the area model and solve the following products numerically.
6. 30x68 7. 60x34 Sq
X 63% x GO |
240 240
+ 1800 pl ol .
2,040 2,040
8. 40x55 9. 80x55
x 40 x 30
— oo
200
x40 [o]®)
+ 2000 - =
2200 4400
I: 88% MON : Lesson 35: ::;:::d t:lf.o-dlgit multiples of 10 by two-digit numbers using the iias
Date: 8/22/13
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. Whatis therlatonshp between the two permeters?
E’ﬂsﬂﬁ Bk “Tre geavelec of e Cack's Sardboar
Ques = D6 FY 15 doude W Qeaimelec of Bt’vs\»gs
Sandbox.
4. Findthe area of the parkssandbor using the ormul, A = .
A=1xW  A=2Osqft
A=10x%
=30
. Thesandbox at the park as an area thats ow many imes tht of Betsy'ssandbox?
Qeea of @eYads On of Reeds
20 2q ¥ B0 = T
“The zardbecal the gork hasan area Hrak 15 4 Fees
ot o8 Berous %v&\»x

£, CompirEhe vy theperimsier anged with the way th aea changed between the two
sdiones; Expan b you nice wing s BTe e

TE afF
“The eeainelerof the gaces SandboxX i5éog\e

Yhe gecioeter of Be\sda Sandbox. The area S (“\ "

Jones Yve area of @etsys Sandboxt. When Yhe e an

Wtk axe douled, Fre ?&C‘\ﬁ\e\ﬂf doudes, louk Fhe arta

quadtugles.

I Eg{RviEMON‘:x :%;f;;:;f:mmpnwuﬂy-hm‘k’uwmnmm: engage™  aw
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Name —3—“\(

Date
1.
a. Ineach of the two models pictured below, write the expressions that determine the area of each of
the four smaller rectangles.
o 2 b :
‘iQ&ixlhn_ Yanesy 4 X\02Y40 |Y¥2=%
u s Y YO |Yv
ey
\0 "H'e“"* + ke -’Zo«es \0x \D =100 |10%¥2 =20

b. Using the distributive property, rewrite the area of the large rectangle as the sum of the areas of the
four smaller rectangles. Express first in number form and then read in unit form.

14x12= (4x_2 ) + (4x V0 ) + (10x_2Z ) + (10x_\O )

2. Use an area model to represent the following expressions. Record the partial products and solve.
a. 14x22

20 2L 22
y y{o} 3 x 14
3
lo 200 2.0 i
20
+ 200
_
30¢%

I" COMMON | tesson3e:
I  CORE

© 2013 Common Core, inc. Some rights reserved. commoncore.org

Multiply two-digit by two-digit numbers using four partial products.
| Date: 8/22/13

engage"’
Thls :::kk licensad under a

mons At NonCommercial- ke 3.0 Us
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Draw an area model to represent the following expressions. Record the partial products vertically and solve.
3. 25x32 20 2.

2
5[ 1s0_|lo X ?5_5

\\O
too 4o 50
0 Yo

+ 60O
—_—

300

4. 35x42 Yo 2 .
s[ 200 0| %15

—06

2.00
20| 1,200 (Xo) Lo

¥ 1200
i
1470

Visualize the area model and solve the following numerically using four partial products. (You may sketch an
area model if it helps.)

5. 42x11 6. 46x11
[ il
x 42 ¥ Hb
R S
2 b
20 Ze)
40 4o
% __‘_-t_O/O___ + Y00
462 506
I': EgARAEMON | m!ﬁ- :ﬂ/g;;laymo—dlglt by two-digit numbers using four partial products. engageny <

7} This work &s licensed under a

©2013 Comemon Cors, inc. Some igits rservad. commoncore.ong Bl Creatve Commons n NonCommerciat-Shart nse
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Name TG.CK Date

1. Solve 14 x 12 using 4 partial products and 2 partial products. Remember to think in terms of units as you
solve. Write an expression to find the area of each smaller rectangle in the area model.

12 12
x 14 12 x 14
10 2 —— " e
4[yonesx 1 ¥en '40:13; @ 4onesx2ones Y<g 4onesx12ones
20 -
4 onesx1ten
Lhenx \xen (il 40 10 wox L " \20 1tenx12o0nes
10 L 20 1tenx2ones
+ \oO 1tenxiten lé%
[cg
2. Solve 32 x 43 using 4 partial products and 2 partial products. Match each partial product to its area on
the models. Remember to think in terms of units as you solve. 3
43 x 20
i3 0
x 32 + o,
40 3 L 2 3 43 x 32 \'730
ones x 3 ones ——
2 |20nes x Yd¥erp| “O]° ——2 2] 2%Y43 ¢
3 @) 2onesx4tens DL  20nes x 43 0nes
B\g‘ - & 2
30| BlensxYkd|zongs GO 3tensxIones 55 BOxY + 1290 3tensx43ones
+ ‘100 3tensx4ten$ *
* 137¢

1276

S

Transition from four partia! products to the standard algorithm for n
engage™

. CORE | two-digit by two-digit multiplication.
' Date: 8/22/13
102013 Comenen Come i Some s rmerd, crmcacore e : mmc:nmm. jike 3.0 Unported Licensa.
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Lesson 37 Problem Set

3. Solve 57 x 15 using 2 pa\rgal products. Match each partial product to its rectangle on the area model.

SRR Y 5 L
i 77X X x
o 5; 65 250
\o. +500
50 Sox15 — + 950 ’-—-7,50
455
4. Solve the following using 2 partial products. Visualize the area model to help you
25
ot 18 13
a 25 \So 200 b. 18 x. 2 X (0
*900 480
x 46 loe© x 62 + 60O
108 ©
150 G x25 36 Zx\%
+* 1000 Y0x25 + 10%0 40 x1%
el
1,150 1116
'
29 39 23 73
c 39 ¥ .6 Yo d. 78 x 13 x 20
—2."3—'; g3‘o 234 \6O
x 46 1200 x 23 &‘\:{_0_9
1560 1560
234 ex39 234 3%x78
+ 1560 yox3q ¥ V560 20x78
P Ardiaibiaci®™
1794 1,794
] MM . ransition from four jal progu e N aigo im for
Il &SREVON | - {;g;ii‘éw’vmésgi”m"i.é&.;ﬁ“"' et engage™  awas
© 2013 Comman Core, Inc. Some rights reserved. commancoTe.org

Em This work i icensed under a
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Name -:E.CK

Date
1. Express 23 x 54 as two partial products using the distributive property. Solve. 54 54
Lpd X20
54 le2 0
3[awa 54 + 1600
i x 33 1080
20%5Y V62 3x34
. 23x54=(3 _fifty-fours) + RO fifty-fours) ~——0—
+ \0 €O 20x54
1242
2. Express 46 x 54 as two partial products using the distributive property.
Solve. 54 5Y

54 L) x YO

EYA \éO

6 ox 54 54 +2000
2160

. 46x54= (G fifty-fours) + (4O fifty-fours) x 46
%
w| Ho¥3 324 G x5Y
¥ 2160 10 x54
2424

3. Express 55 x 47 using two partial products using the distributive property. Solve.

Y7
5 5% 47
50 Sox 47

CORE

17
r:‘}) x50
235

55%
“Fo
ssx47=(_5 x 42 )+(5Q x 47 ) bk >
x 55
235 _5.47
+ 2350 _50xM7
2535
f COMMON Lesson 38: Tmns‘_t'on from fm:u- partial gmdn_u:ts to the standard aigorithm for ny
I._J é\;lozzzgalt by two-digit multiplication. eng age 3.H.55

© 2013 Commeon Core, Inc. Some rights reserved. commongore.org.

This work is licensed under a
Attribution-! ShareAliks 3.0 U nse.
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wame oae

Solve the following problems. Use pictures, words, or diagrams to help you sobve.

1. The projection screen in the school auditorium is  times s long and 5 times as wide as the screen in the
library. The screen Inthe library is & feetlong with 2 perimeter of 14 feet. What s the perimeter of the
screen n the auditorium? 206

uet
384 ?= 2 (1+W)
Semn = 2% (20M3)
P=14 F+
H-d-d=6 Qudthociosss Screey

Thegedimeier of
Hre Sceeen 0 Fhe
auditortiumn 15
70 $+.
2. The width of David's tent 55 feet, The length I twice the width. David' rectangular air mattress
measures 3 feet by 6 feet. 1 David putsthe ir mattrss nthe tent, how many square feetof floor space

il be valbl or e st fis things?
55 56, “Teat O3 ayyress
f=\xw f=\%w
b = 10¥5 =oa
=50 =18

Q=50 square o H=1335quare £t

1©
35
Rt
=B
22 .
32 square Feek of Llooc seace WM be avatiale.
Il SgyMoN [ S engage"’ 3sw
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Name -:ECK

1. Express 23 x 54 as two partial products using the distributive property. Solve.

Lesson 38 Problem Set

54

Date

s¢ Y

3%5Y

®

3 x20

20| 20%5Y

le2

SO
4+ 16000

1080

54

x 23

\G2L 3x54_
23x54=(3 _fifty-fours) + (0 fifty-fours) *

Solve.

2. Express 46 x 54 as two partial products using the distributive property.

54

+ \080O 20x34
L2442

6x 94

O
Xxd_ w¥0

Yox 54

b \eo
+2000
2160

54

46x54= (G fifty-fours) + (4O fifty-fours) x 46

324

_G x5Y
+2160 MO x54
LYY

3. Express 55 x 47 using two partial products using the distributive property. Solve.

Y7

Sx47

Box 47

55x47

L

CORE

COMMON | Lesson3s:

© 2013 Common Core, 'nc. Some rights reserved. commoncore.org

47
x50
55%

tases

2350

N
x

235
=(_D =42 )+(50 x 42 )

a7

x 55

235 _ 5«47
+2.350 _50xY47
2535

Transit'on from four partial products to the standard algorithm for
two-digit by two-digit muitiplication.
8/22/13
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4. Solve the following using 2 partial products.

53 53
¥, 5 x40
58 290 320
r2000
x 45 2320
290 5 «5%
+ 2320 _Yox5%
—A———
2610
5. Solve using the multiplication algorithm.
82
x 558
———
Y10 _5 =32
—_——
* 4100 0 _x32
4510
%
6. 53x63 7. 84x73  y g
3 242
¥ 53 g P3 40
+ 59
i TS
SIS0, o
3334
I EQRMON = iz angage  suss

5 5
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3. Jackson's bedroom has an area of 90 square feet. The area of his bedroom is  times that of is closet. If
the closetis 2 et wide, what s s length?

Qreo.of Closek x A= Qren, of bedrooery
Qe of Closet x 9 = 90

90%9:\0
Gron o€ closer = \0 Square £

W0=1x%x2
=5

“The \eua%\ of ¥re closelr I & Feetr.

3, The length of a rectangular deck I 4 times ts width. Ifthe deck's perimeter is 30 feet, what i the deck's

At Y uws
e e P 2% (b))
= 2x5B
P=30 &+ “ 0 s

gy A % . 1D ustvs = 206%
e deck's aea 35 26 squose feet o

w=3 &
I-D\C'\—

= b

engage"™’ 3w
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Name -\ECK Date.

Eampke: the \ds | hundreds T
5 o i |

wioe ‘

Sonesx10s_> TN 1

@zs=o)|

Directions: Draw number disks and arrows s shown 1o represent each product.
1 sx1w0=_200
s5x10x10= 500
Sonesx100= 5 hundeeds

Thousands | hundreds | _tens ones

2. sx1000= 5,000 Thousands | hundreds | tens ones
5x10x10x10=_5,000 w0 lezoe: oo

| CERED)

sonesx1000= 5 ¥nousands

3. Complete the following equations.

a 6x10=_CO b 100 x52600 e 6000s_b_x100
o 10x4= 40 e 4x100_-a00 f. L0 x4x4,000
& 1000x9-9.000 h 90 _=10x9 L os0=_9_xi0

COMMON | wessons: Interpret and regresent patiarns when mutiplying by 10, 100, anc
Il SQHON [t Gmmmimmiammds =" engage" sas
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Directons: Draw number isks an artows s shown t represent each product.
4 12x10=120 thousands | hundreds | tens ones
E < O
(ltenzones)x10= 1L Yerns s> [ 4
- Thousands | undreds | _tens ones
5. 18x100 1% o B>  ofi8eee
S ol &% Hase ~
18x10x10 L FCO s HAT
(ttengonedx100= 12 hundceds ==
6. 25x1,000= 22,000 houmnds | tousands | hundreds | tens ones
25%10x10x10 = 15,000 ¥ 2> ?w
xig-tm>
s 5 ones) x 1,000 = 25 thousand; % ¥10 455
(2tens 5 ones) x1,000= 25 thousands _ «,@/@

Decompose each multiple of 10, 100, or 1000 before muliplying.

7. 3xa0=3xax 10 8 3x200=3x_2_x 100
=12x_\0 L x\0
-no &
axap00=_Y x4 x 1,000 10.5%4,000= 5 x Y4 x 1000
=1b_x1,000 =20 x 1,000
16,000 =20,000

I GgHoN | imme mmizmzm= e m engage™ a2
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“Jack Date
Draw number disk o representthe vaue of the folowing expressons.

1203 b

£
2tmes_>_onesis_(>_ones.

2B = b ores

o

b

TxBres=Ghess

3 2e- 00 pos
2times_ D \;m&_dﬁ € huseds . e *
[Z<e)

2% 3husderds = 6 hundeeds
4. 2x3,000=6000 3,000
2 times_3 Yrouzands s_&  Hhousands. £ 2
6000

= EAES

Tethosants: 6 Wousards

I Sgymon :s S.EEM\M&,Mm,lm,:r-d\muwnmkmpn\r«namnu engage™
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5. Find the product.

w x7= [qo  |b 3x®= \g0 & 3%0= 1200 |& 2x80= \600
Zievsx 7 =l dens [ DXGhens=\Bkens 3w\yw«s§\1 U%“\'f(\fﬁé«\s

g i =nco =\e0o
e« 7x30= 210 [F ®x6r O |e 40x4= QOO |h 4x8000=32 000
7% Bienst 213605 | Lrens % 6= 2b4en5 4 hurdees = H xR Maouzonds =
il . 16 husdats 32 Meousards
“\00 = 33,000
L sx3% |50 |} Sx@0- 200 |k 5xe0=2000 L 800x5= 0,000}

Brd s\ kens [ % blens = BoYers| 5x A hundeeds= |3 Hhousarsx 5=
-\56 <300 20 hurdeeds Ho Yhouzans]
=2000 =40,000

6. Brianna bought 3 packs of baloons for a party. Each pack had 60 balloons. How many bafloons does
Briannahave? @

@ﬁ R = Ix6O Beaecn. s 13O milloons .
3x6*\0

R x\0

=120
7. Jordan has twenty times as many baseball cards as his brother. His brother has 9 cards. How many cards

does Jordan have? T

\ = 23 x\0
= \gx\0

‘&srém\ Yos 150 @axds. z

5 The oqsrio has 30 many 5 an k5860 . TG U hs 50 . How mary
i does aco have? S s B e
Tacob 30 = Qquaciam

T x 20 =90 -
oo x Bens = qtens  Towb:D

JI SQUMON [mms syt miemssn et oy qa oY 3ps

CORE
&y
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Name Date.

ions: Represent the following problem by drawing disks in the place value chart.

A
e e
(2tensx8)x10=_FOO S
oteri0 200 = e
<
20x40= 200 =
(>

2. Drawan area modelto represent 20 x 40.

40

2nensxatens= B huedeeds

3. Drawan area model to represent 30 x 40.

20x40

20 J| BrersxUies
1 hardeeds

3tensxatens=_1L nundceds
30x40=1200

I Sg’ﬁ'{MONI:“ ngmwlmamummmmmmmw eng,a\geny
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80
4. Draw an area model to represent 20 x 50. /_\_A_A
20%50
236 x Slers
20
10 hundeds

2tensxstens= 10 fundeds
20x50= 1000

Directions: Rewrite each equation in unit form and solve.

5. 20x20=_HOO 6 60x20= 1200
2tensx2tens= . hundreds 6tensx2 Yo = Y2 hundreds

. 70x20= 1400 70x30= 2100

T tensx_2_tens =14 ‘hundeeds 7 kes x%ok__«_s =2\ hundreds

“There ace 3,600 Seads 10 90 tows.
10. One ticket tothe symphony coss S50, How much money i collected 80 tickets are sold?

0 % 50
9 Yees ¥ B Yeas = 4O hundcedS
= 4000
34,000 15 collecked i€ 20 Hickers ae sad.
11 SgymoN | :-:e o s 0 by S Al O engage"y

ety

387
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name __Jacle ot

1. Represent the following expressions with disks, regrouping as necessary, writing a matching expression,
and recording the partial products vertically as shown below.

a1xa
a3
tens ones B 1
seece [see T3 > 1x30nes
+4 0 Sixatens
T 3
1xdtens + 1x30nes
b.2xa3

u3
sso0 * 2

© - 2¥bones
+ 20 = avdkes

%
2x4d ks & 1XDores
fheos ¥ fones=%b
e
Tundreds | tens | ones . ‘*%

qazxvones
+ 120 2xq Yens

29

Ixdiens + 2x 30es
Vhunted ¥ 2¥ens + Goves = VR

[1 SQUMON [immen o tn sttt
CORE o

s engage™
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d axa3

3
T2 - Mx3ones
o 4+ ) 6O = UxAkes
o VT2

Fiens ¥ {vaones
Vundest £ 7hens + Loves =172

2. Represent the following expressions with disks, regrouping as necessary. To the rght, record the partial
prodets vertially.

2 2x3 26
x Z
YL > 2% 6 oS
Zns  2%60ES + 60 = 2% 3Yens
Tieas 200570 T2
b 3x61
[

2 -~ Bx\ o

F 130 » B¥6Yens
Ixoes s %] o 2
Vinded vaiees +3ores= V3D 82

€ axss
34

i |

TGS uxtones
+ 320 suxgtens
D30

{ 236
TN
Zhdccho s 3iens Fones <336
I ggﬁMﬁW e e s o 1 Y
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wome _Jack

1. Represent the following expressions with disks,regrouping as necessary, writing a matching expression,

3

COMMON | tessons:
1 g |-

Date

2x213

3x2m4

‘and recording the partial products vertically 25 shown below.
1x213

Fundreds | tens

1x_Z hundreds + 1x_L_ten+ 1x ones

218
x 1
3 > 1x30nes
1O S1xiten
t 2 00 >1x2hundreds

213

Zhondetas + \hen v Bores =203

Tundreds | s | ones
o e cee
e e eo
2x D 2V ens 2x Boces
Mhoodels § 23685 + 6 Ores = 426
Tundreds | e | ones
0 g
oo o
oo |
¢

By Dot 3wVt Sy dores

Chondeeds & Hiens + 2 0ne3 = 64 L

by one 55t otpicnon

e e sl pace vlue s o epesent e and our 3.

A3
2

(2% 30nes
20— 2%\ Yen
M0 0 - 2% 2 hwdeds
—
426

2y
X D
TL =2 Yenes
30~ 2% en
+ OO =¥ 2 hundeeds
T B0
42

engage™ e
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P e 1284
s o4 2
2
o \s0
. A €00
3 | Foumer 3% Zhuntels ¥ 35ers ¥ 3% 4 015 + 3000
3 Hooutanis s Pt + Ciens > Aones= 3,762 3762

2. Represent th olowing expresions with disks, usingeither method shown durig the s, renaming s
e, Toth g, o e prtal ks iy

. 3xm2

b 2x4036

Every day at the bagel factory, Cyndi makes 5 different kinds of bagels. Ifshe makes 144 of each kind,
‘what s the total number o bagel i
tisthe total number of bagelsthat she makes? | L L Gy s o \ R

x 2 710 bagds every éaa.
200
¥ 500
[P gy T O X0 RN
I GO [ T bz = " engage™ e
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ame _Jack one

1. Solve using each metho.

Partal Products | Standard Algorithm PartalProducts | Standard Algorithm
a) 34 3 e b 224 224
x4 & 3 x 3
16 \’.5 & 12 72
+ 120 (3]
A * Goo
672

2. Solve. Use the standard algorithm.

2 251 e 13 5 4 3.0 4
o s g % )
753 %10 2736

9 a0 s 9 s ae i A
. x s 3
ezo 5% 0 2552

I SQON |= oo oo e
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3. The product of 7and 861s GO . 4. 9times as many 25457 is 4,113
4s7
56 457
27 ()
602

5. Jashawn wants to make 5 airplane propelles.
He neads 18 cm of wood for each propeller. <
How many centimeters of wood wil he use?

13 b~
x ;(5) Toghaon ol use 0 cen o Loced,

6. One game system costs $238. How much will4 game systems cost?

5
szf{, o g sphews LN st bqgy |

¥F952

7. Asml bag of chips welghs 48 g. A large bag of chips weighs three times as

%m a5the smal bag. How much will large bags of chips weigh?
43s
srod
S
==
o O T3,
— >
144

Seven \arge \mﬂs of chips W Loegh

\, 808 ons.
I EBRON | = SRS angageM e
[ o A
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name _Jack
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one
1 Sobeusig the sandordslgort,
CERS Wexa
42, 1
) x 6
20 Z’;[
<) 6x431 d) 3xa31
43\ 43\
x, © x_ 3
—— —_—
25%0 293
€) 3x6212 ) 3x3,106
212 3106
% 3 x I5)
—_— —_—
13036 RN
g) 4x4,309 h) 4x8,618
4309 LA
17,236 3472
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2. There are 365 days n a common year. How many days are In 3 common years?

265
S, 5. “Thewe ace | 5,095 A"'BS D Common g,

\’0‘15

3. The length of one side of a square city block s 462 meters. Whatisthe perimeter of the block?

2oy
462
o Y He He2m
He e

“The perimelec ofa. Squace c?\—a\:\od&
5 1,343 mevess.

4. Jake ran 2 mils. Jesse ran 4 times s for. There are 5,289 . ina mile. How many feet did Jesse run?

=% 23

—_—
pasd 5,280
Towe (2l22) 1

st

42,290
TSesse van 42,240 Seek.
GBI EREEETN engage™ e
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Date

model.

1. Solve the following expressions using the standard algorithm, the partial products method, and the area

a. 425 x 4

115 u25
x4 x M

20 0D
30 L7

+ LoD
1,100

4 1,00 30 0

Hoo 20 S

4 (400 + 20 +5)

(4x 400 )+(4x 20 )+(4x_9 )

b. 534 x 7

534 9

x | .
7% 39
210 3
+3,500

500 o 4

(Zx320 )+(1x_30 )+(Ix_4)

_)S__zi _X___,_ﬁ.
Lb71 72
+ 1600

200 o

§ 1,00 Byl

S(2e0+ 9 )

(8 x2e0)+(8x_2 )

standard algorithm.
Date: 8/23/138:44 AM

[@) sv-nc-sa |

Connect the area model and the partial products method to the

engage™

Creative Commons Attribution-NonCommercial-ShareAlike 3.0 Unported License
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2. Solve using the partial products method.

Cayla’s school has 258 students. Janet’s school has 3 times as many students as Cayla’s. How many

students are in Janet’s school?
15% 25%
X >

‘ DD:|: 70 Thevt are 774 students
’ v (lggg at Jancts school.

= V’) ol sl
17
3. Model with a tape diagram and solve.
4 times as much as 467. L\'lp—l
i1 x Y
—£—
aEEE He
\/_\/“—/
7
Solve using the standard algorithm, the area model, the distributive property, or the partial products method.
4. 5131x7 5131
x —l
Lot o
3571 1

5. 3times as many as 2,805.
2,600 o6 5

3 L&,OW 2,400

prapo () () g
(gobo + 2H4po + 16 = 7
6. Arestaurant sells 1,725 pounds of spaghetti and 925 pounds of linguini every month. After 9 months,

how many pounds of pasta does the restaurant sell? Write your answer as a statement.

l.715 2,000 oo SO
925 1| 1o sl The restaurant sells 23,850 poonds
‘F——f—*z 050 (Actond) * Chrsany s o€ pastn in 9 months.

(]
Jg,000 + 5400+ ysB = 23,850

COMMON Lesson 11: Connect the area model and the partial products method to the
l CORE standard algorithm. engage ny 3.C.5
Date: 8/23/139:02 AM

© 2013 Common Core, inc. Some rights reserved. commoncore.org
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name DK

1. The table shows the cost of party favors. Each party guest receives 1 balioon 26¢
E"“.‘,'zé'zl“*“‘? 2 1 bracelet 33¢
i,
e A 233
123

T3¢
“The Yotal cost & @ aur;sb s 36.57.

5

e
2 The Turnse iy uses S48 s of watee par day. The il iy s Umes 3 mch water pr v}
How much water does the Hill family use per week? i

54
T\«Mxﬁj " ng L,edd ¢
et W 7.
W \eHd V1,508 L
LEH L ¥ et Caenily used W08
1ihers of (ool frr etk

3. Jayden has 347 marbles. Evis has 4 times as many as Jayden. Presley has 799 fewer than Elvis. How
many marbles does Presley have?
7

S @ 1,338 2397
e e
E WiLns  Qesleybas

AR %9 Mordes.
Py s
539

TIRSSHMON e g osims i s

engage™’ oo
St gy i
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.

2. Write an equation that would llow someone to find the value of .

E—
1167 1167 1167

29

—
" R¥ 239 = 3% \,\67
2= 3% 4,167 - 239

b Wit yourown word problem t corresgond o this ape diagra, then sobe

Qs sandals wey 1,167 grams, She.
3 pades, all diCferent Co\ors W\ D paies of m&_\\s
wedh 39 groms Moce Than hee Winker beoks. (What
1o e woer \,3- =¢ %A—‘r\ s Winkec bects?

et 33@4

350‘ 3,162
T . b

g Rodi’s Winter boots
R wﬁs\w 5,262, ammé.

I z_g»&wow o ettt s,

engage™ ow
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name __Jack.

Solve using the RDW process.

Date.

1. Overthe summer, Kate earns $180 each week for 7 weeks. Of that money, she spends $375 on 2 new.
computer and $137 on new clothes. How much money does she have left?
7% 2130

5355 7888
\37 - 512
s512 S743

*5l2.

Kaie hod 3748 \eft

2. Sylvia welghed 8 pounds when she was born. By her fistbirthday, her welght had tipled. By her second
birthday, she had gained 12 more pounds. At that time, syma;mnemeuneasnmmsm;nas her.
wtis sy s cudsconbisdue? S = \ s

w Hﬂﬂ dad= Bunits
O A T R

36
% 6
ey el
216
Syivia and hee dad woedh 216 peunds Combined.

W

“ COMMON [imis | Spthahvaiti s

engage™ oz

e (T i
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3. Three boxes weighing 128 pounds each and one box weighing 253 pounds were loaded onto the back of
an empty truck. A crate of apples was then loaded onto the same truck. fthe total welght loaded onto.
the truck was 2,000 pounds, how much did the crate of apples weigh?

334

R e e Y
X -\1 53 -\'):s % + 254
=1 SR 2,000

254

— i \

Croie SRS LB

1,362
“The coave o aggles we:é,\e.a 1,362 pounds.

4. none month,Chale ead 31 pages. I thesame month, i mom read 4 imes a5 many pages 55
Char,and that was 14 pges more than Charles da read. What was he total mumber ofpages esd
by Charlie and his parents?

-
Sl
Xlﬂ 3,250

L Bt i
mm[IDj ! 3256 3113

3\
3,256
+ 3,1\3
ol
7,93
Choske and Wis Gosents cead 7,133 poges.

I g

engage™ o
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Name TQ.CK Date

Solve the following problems. Use the RDW process.

1. There are 19 identical socks. How many pairs of socks are there? Will there be any socks without a

match? Ifso, how many? V%% “The guohentr s 9 ond the

BO0CAED omiar 'L

“Thee are @ Roics of secks,
Thece Wi te one sock. Witheus a. Melch.

2. Ifittakes 8 inches of ribbon to make a bow, how many bows can be made from 3 feet of ribbon (1 foot =
12inches)? Willany ribbon be left over? If so,howmuch?  the. quotsenr 73 U and the

3 feelr= 36 inches 369 remamdec s Y.
4 bows can te made From B feet of
Ybbon .

“There W be U nckes o8 Fbbon \eftoue

3. The library has 27 chairs and 5 tables. If the same number of chairs is placed at each table, how many
chairs can be placed at each table? Wil there be any extra chairs? If so, how many?

quottent is Band the cematnder

TThe
1725 R
5 Choxes €ON ke Q\o.ced oJr eadn Yavole .

“Thece WIN be 2 extta dhoscs.

] COMMON | tessonta: Solve division word problems with remainders. n
I OO 7 engage™ :cu

This work i icensed under a
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4. The baker has 42 kilograms of flour. She uses 8 kilograms each day. After how many days will she need
to buy more flour?
2.

I~ Bl 24,752,440 ,4%
N =
Cemadec of 2
4+s

—“\tquo\*m\- s B and Yhe Cemainder 5 2.
“The oaker will need +o\>u6 Plowe aftrer B C\“ﬁs'

5. Caleb has 76 apples. He wants to bake as many pies as he can. if it takes 8 apples to make each pie, how
many apples will he u.sg,?eHow many apples will not be used?

A %\\Q.lqlsl. qo'q‘g"bélz_%

Lg\'? l«mw&q

70
T\A&C\uo'\ﬁem\— 199 ond Yhe cemornder s 4.
Caleo il use 72 apples. apgles will aot e used.

IR

6. Forty-five people are going to the beach. Seven people can ride in each van. How many vans will be

'eq"'mwwm 7,14,21,2%,35,42 49
{-»\...'z... 'ﬂ

eonoander o 3

4Ys <7
The c(upkex\‘r 75 6 and Hhe cemnainder B .

7 vans wi\\ ‘e chlUG("QA Yo 6&\- Qvecdo“e Ao Hhe beadh

F‘ COMMON Lesson 14: Solve division word problems with remainders. n
I okt ot vz ) engage™ s

© 2013 Common Core, Inc. Some rights reserved. commoncore.org.

s This work Is licensad under a
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Name m Date

Show division using an array. Show division using an area model.
1, 18+6 3
\Q
=2 I
Quotient=__ >
Remainder= O Can you show 18 + 6 with one rectangle? %&j
2, 19+6 =

Quotient = 3

Remainder= | Can you show 19 + 6 with one rectangle? _0O

Explain how you showed the remainder:

T our\ned one tMore
Square uait.

i COMMON Lesson 15: Understand and solve division problems with a remainder using the n
I“j CORE array and area models. engage y 3.E.22
Date: 8/22/13
3 oo i TR P s s
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Solve using an array and an area model. The first one is done for you.

Example: 252

- (ECOOOO0AP0. b 5

Quotient=12 Remainder =1

3. 29+3
; b. 9
" (00000 J 5
Quotieny = Lemaindec=".
4, 2235
a’ gl
5. 43:4
a. .
Y
6. 59:7
a. b.

Quctieny = ¥ Cevoinder=3
T COMMON Lesson 15: Understand and solve division probiems with a remainder using the n
I | CORE ¢ engage Y ez

array and area mode's.

8/22/13

== This work is licensed under a

BB Creat Atts rciak-ShareAlike 3.
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name _ JOCK Date

Directions: Show the division using disks. Relate your work on the place value chart to long di
multiplication and addition.

your quotient and remainder by

1i9x2 I aits Check Your Work
¥ 2
3 L
remainder = \ x 2 +\
[
2. 27+2
o 5 Check Your Work
ns nes
3R
— :-o—b‘ 1_57 quotient=__13 X‘?- Z"’l
= fitodpaid o
'g‘ W‘J _DZ remainder = 2L A
one
B |
3.
quotient = 2 Check Your Work
- 21 =
remainder = *3 r2
L &
Lesson16; Understand and scvetwo-digt dvidend diion prolems witha
COMMON remainder in the ones place by using number disks.
Il G8¥ oates Bk engage™’ s.es

€ 2013 Common Core. . Some g s commoncore o RETZETI| v Commns A Nont mmesci ShareAlhe 0 Ungorted Lesrse,
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4. 38+3
Check Your Work

Tens Ghes 1

— Tow 3 jﬁi quotient=__ 1 2= 12 fk_
B e
s e VIS oL remainder= 2 26 3§

. .. z
5. 6+4 § aL :

Ones 48 Auotient = Check Your Work
—Q z remainder=_ %= | Y
15 o2

B ¢ L
= : 1&‘“ i

6 gs+4
Tens Ones 2102 Check Your Work

— —0 4[86 quotient=__ 2!
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Show the division using disks. Relate your model to long division. Check your quotient and remainder by

using multiplication and addition.
1 5%2
Ones
176¢@®
.. 3 2 ones
*e
2. 50+2
Tens Ones
VLA o — L XL
4 l;lfr‘
B - . > ® o 00
. ® a o oo
3. 7+3
Ones
fpby s
e
B0 R 2 ores

2R\

2 ,‘7— quotient = 2

il
[

remainder = t

o 25

remainder=_Q

quotient=__ 2.

remainder = \

Check Your Work

N

!

+

B

x
N

£

Check Your Work

25

x  Z
50 v

Check Your Work

(A

2
13 vl
[ 7V
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4. 75=+3
25 Check Your Work
Tens Ones 3|75 uotiant = 2 5
ALY ¥ Léfr o -6 i 5
® o r} L ¢ ¢ v |5 O 3
Lol rae - |5  remainder= L
in c e e Patem—g 75 v
[ ] 5ms
5. 9+4 2 2\
Check Your Work
Ones 4[9  quotient= 2
-3
vébb & . . B, =
4 "@ \ remainder = \ 2 '_' N
ol § 2.0nes < q v
6. 92+4 ?
2
Tens Ones a[92 quotient=_ 2 Check Your Work
FEors s f -9 ) s 2}3
£bpo— ;fﬁﬁ; V2 remainder= b
e s o @ “ng'k‘\s = |’2. "q‘_{ ‘/
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Directions: Solve using the standard algorithm. Check your quotient and remainder by using multiplication

and addition.
1 46e2 %73
23 22 32
PARTIR é 3L X2
-4 o =% qe
ob ob
- b b
20 S0
Quetiewt =23 GQuoteny =32
Rewasnder= 0 Rewussrder =0
3 8545 Br
11 \> 12
55 EP L
—{?'_S“/ - 52z e
1z
a3
o
Quotieut=13
Remainder =0
6. 95 %47,\ 3
7 S 12
x‘ 3 xo %45 7’?_ y3
%+ = ~g X —=
G s %z asv
5
-1
=)
hent = Guotient=23
Buotent=11 3
Rewainder=2- Ramainder =3
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7. 89+%6 8 96:6
15 gy L v
WEa xb +5 LTaw 9%
v T FaY| e ac Y
29 3
24 “2
5 4
Quotent =14 Quotiewt 214
Rewainder =S omsinder= o
5 e0:3 0. 604
Wi 1S
20 20 s
° X3 1o X 4
3—5 W = oY
[ 22
=0 F20°
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(Ruotent = 20 e e
Rewsinder = 0 Relsinder =0
11. 95+8 12, 95+7
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1. When you divide 94 by 3 there is a remainder of 1. Model this problem with number disks. In the,
number disk model, how did you show the remainder?

s R \ Showed my vemainde
o © by ticcling Hie remainiag
e oNe {4 +e ones Column,
] 3 4wy

e 5 g > o

2. Cayman says that 94 + 3 is 30 with a remainder of 4. He reasons it is correct because (3 x 30) +4 = 94.
What mistake has Cayman made? Explain how he can correct his work.

Crpman's WistakE % Ak WS cewainder (€ freater than his divitor
Thet weans e (a1 AWide even woce. wstcad of 30, e ov wake 3\ grups

442 = B| with & cewarnder of 1. (323D 1= 4\,

3. The number disk model is showing 72 + 3. o e
Complete the model. Explain what happens
e T e et g i e o BSBDQ | BD
kel o \m%v
The Lien vav‘wm:«é\@ﬂs deconpostd——— P 2 veng
i 10 ovtes i ~Fae ones 00 [colole) gq ones ™
Colum,
OO OO
[o]o] elolo)
COMMON | ari%  Grnresnes g e e oo .
Il &8 o = engage™ s
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4. Two friends share 56 dollars.
a. They have 5 ten dollar bills and 6 dollar bills.
Oraw a picture to show how the bills will be shared. Will they have to make change at any stage?

£5,4they neded to
PR % ;{AAKC L\amy LS

2 tews “en dolox il ocder
!‘!‘;'%oo & oves G287 s chare ¥\ needed o
[} %3‘30 Acuw‘;ox g £lo datac
b. Explain how they share the money evenly. Li it 1o Sidetlae Ll

£acm Arieud et o 810 Asllar Lillg
awd gght 8\ dolar WilkS.

5. Imagine you are filming a video explaining the problem 45 + 3 to new fourth graders. Create a script to
explain how you can keep dividing after getting a remainder of 1 ten in the first step.

“Watda as | divide 4553 using & place value et ”
sk \ Jwide  wy Heas,

Ea of Ave 2 aaups (g\m\\j
W e, There o\ den (E\MA(A.\'/\j,
We tan (ontinde p\id(dmj by decompsing
e\ dew ke D ones, Wadeu s L [
Ahis o my chart. Now | ave \5
owes Aot v be egually o(is’rvibﬁ_co{
iy e 2 6““?5» Eack govp will
fet G ones. ngw we G see Huat
4S:3 vs L den owes o 15"

Lesson19:  Explain remainders by using lace value understanding and models.
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Name TG-CK Date

1. Alfonso solved a division problem by drawing an area model.
a. Look at the area model. What division problem did Alfonso solve?

1o

i
Al 31‘ 7254= 18

b. Show a number bond to represent Alfonso’s area model. Start with the total and then show how the
total is split into two parts. Below the two parts, represent the total length using the distributive

property and then solve. E

&
= (3)

+ (32: 4)
=10 + ¥

Ak

2. Solve 45 + 3 using an area model. Draw a number bond and use the distributive property to solve for the
unknown length.

\O S @

3 20 \5
(2033) + (5% 3)
- wo + B
= \5
Lesson 20: Solve division problems without remainders using the area model.
I ES%MON Date: 8/13/13 engage ny T
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3. Solve 64 + 4 using an area model. Draw a number bond to show how you partitioned the area, and
represent the division with a written method.

o
[ w0 |a |

(do=4) ¥ (2u=)
= o ¥ 6
= \b

4. Solve 92 + 4 using an area model. Explain, using words, pictures, or numbers, the connection of the
distributive property to the area model.

20 3 We use e area model to
Show how we can oreak o@ox‘\‘
o Whole 1avo Steces Haak toke
v v & easvec o &\\ztéﬁ ‘we
@03 )+ Olf 1) dishelbuiive © \{
= 2 ¥ 3 how the w\\o\e s \0 (S5 o\pof\‘
> z3

5. Solve 72 + 6 using an area model | and the standard algonthm -- -

4| 2o 12

- Z~ L

o i S \7_
¢ 6o 12 672
-b

20: Solve division problems without remainders using the area model.
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Name _IQQ\Q Date
1. Solve 37 + 2 using an area model. Use long division and the distributive property to record your work.
3 A1
203quare |ic {sauare 227
2|7 Gaws &;‘ - reraTiNg -2
17
(2022 (le=2) -\b
= 1o & \
= \9

(8% 2D+ 1=37

2. Solve 76 + 3 using an area model. Use long division and the distributive property to record your work.

2 tens  Sones [_‘LS R
2 6o ‘csnro. 1 squose ol
Squore wails| SN\« su}-\-cemmns :_l-b_
(eo=3) + (i5:3) -5,
|

= 2 ¥ 5

-

- Z
+\ =76
3. Carolina solved the fﬁgln,gc d'i?zlon\problem by drawing an area model.
\den done S

% L * = j.’lma

a. What division problem did she solve? 53+ “‘
b. Show how Carolina’s model can be represented using the distributive property.

Go+d) + (x4)
= o +3
= \3

(3> D+ =53

COM MON ' Lesson 21: Solve division problems with remainders using the area mode!. n
engage™’
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Solve the following problems using the area model. Support the area model with long division or the

distributive property.
3. 48:3 5. 49+3
g s _ter
30
) AR wnts| b 3(%@,”&&%\&%3
(30%3) + (8+3) ' 3 ,iq R
= 0 + [ —a
= \b L
6. 56:4 i Yonts 7. 58:4 ot
ONe;
y U UAT e W
: = ! ==, 37
Go=q) + (114) 53
= lo+Y =
e |(_‘ -
2
8. 66+5 9. 79+3
_ 2 jens Go
) | Squace ust (O Squase 3 \SQM\U\‘\\'
5 S| s(ce‘«mntns 3 u:l\*\-s o "““‘"‘2“\5
50:5)+ (1535) 3N
~lo +3 =
= 13 -\3
(3xB)+ \ =¢p :

10. Seventy-three students are divided into groups of 6 students each. How many groups of 6 students are

there? How many students will not be in a group of 6?

lken 20tes

~ 2L R\ Q
S Thece. ace \2 Toups ©
ce[2. et cl "-

¢ ‘.:*m 5 "™ ie 6 ShudentST 1 Shudead
(coze)+ (nx6) 3 Wil no ‘oe tna groue
=10 ¥ 2 L of 6.
=\ |

(2x O+ =73
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© 2013 Common Core. Inc. Some rights reserved. commmoncana org

engage™’ ex

NonCommercial-ShareAlike 3.0 U

This work is licansed under a
Commons Attril





image44.jpeg
NYS COMMON CORE MATHEMATICS CURRICULUM NYS COMMON

Name -SO.C\(

Date

Lesson 22 Problem Set

1. Record the factors of the given numbers as multiplication sentences and as a list in order from least to
greatest. Classify each as prime (P) or composite (C). The first problem is done for you.

Multiplication Sentences Factors PorC
a. |4 The factors of 4 are: C
1x4=4 2x2=4 1,2,and 4
b.|6 \x¥6=0C The factors of 6 are:
2X3%= b 2 13, @ C
|7 \x7=7 The factors of 7 are:
W7 P
d[9 1x9:=9 The factors of 9 are:
3x3=9 1,29 C
e [12 Ixlu=\y The factors of 12 are:
ax 6=\1 C
Tt =17 ,2,3,4,6 1\
f |13 H
%13 =13 The factors of 13 are:
IE P
8|15 |w(5=15 The factors of 15 are:
3% 5215 1,3,5,15 c
h.|16 1% \6=16 The factors of 16 are:
2% 8216 b2,4,%,16 <
yxv=1p 243,
i [18 IX1%31\] The factors of 18 are:
%9219 1,2,3,6,9,\8 C
3X 61
J. |19 \X\q:\q The factors of 19 are:
L\9 P
k|21 IX21=2) The factors of 21 are:
P¥7:21 1,3,7,2) <
. |24 \™XAY=2\Y Y% 6=2Y4 The factors of 24 are:
e ‘%’-j;:;f 142,3,4,6,3,12,24 &
Il GORVON [t e o e eamerte engage™Y
8/22/13
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2. Find all factors for the following numbers and classify as prime or composite. Explain your classification
of each as prime or composite.

Factor Pairs for 25 Factor Pairs for 28 Factor Pairs for 29
\ 25 \ 23 \ 29
5 5 2 14

4] 7
Compesiye Comgposire PTIime

Mere Yhan 2 Lacters e Yran 2 factess on\G’l-Co.c\-ocs

3. Bryansays all prime numbers are odd numbers.
a. List all of the prime numbers less than 20 in numerical order.

1,3,6,7, 1, 3,179

b. Use your list to show that Bryan’s claim Is false.
Btaaﬁs Aain 35 false because 2 35 o rime A umer
bur W Is an even fumbec.

4. Sheila has 28 stickers to divide evenly among 3 friends. She thinks there will be no leftovers. Use what
you know about factor pairs to explain if Sheila is correct.

Shetla 13 Incorrect. 3 35 not a fackor oF 23B.

She. would be able Yo S%ue 9 Bhickers Yo €adn Ledend
and Yhere would B one \eft ovec.

a COMMON Lesson 22: Find factor pairs for numbers to 100 and use understanding of factors n
| | engage Y  akn

CO R E | to define prime and composite.
Date: 8/22/13
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Name TQL\(

1. Explain your thinking or use division to answer the following.

Date

a. Is2afactor of 847 b. Is2a factor of 83?

(kjes. 34 s an even o, 33 s an 0dd
Nuember, 2 15 a facker | number. 2 T nor o
of ewr:) even numeer, | Lackor of odd numbers|

c. Is3afactor of 847 d. 1s2afactor of 927

23

%ﬁs- 5Y§T‘r eS. A% 75 on even
=6 Aweoec,
24
-24
(@]
e. Is6 afactor of 847 f. Is4afactorof 92?
| 23
Vs o WS 4@
—% -3
24 1S
- 13 —\2
o o
8. Is5a factor of 84? h. IsaafactorOfB‘Z?
0. 34 does not have | 0. g [q0
a B o O in Pre oves ;%I_L
\oce. QW numders Yha) -3
E«w& 5 as a fochor have -
« S5« O ™ Yve ofles Place)]
7 COMMON | tesson23: Use division and the assocative property to test for factors and ny
I g [ = S engage"’ e
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2. Use the associative property to find more factors of 24 and 36.

a 24=12 x 2 b. 36=_2 x a4
=(H4 x3) x2 =(D x 3)xa
= Hx (3x2 =3 x (3x4)
=H x s =3 xn
-24 - 36

3. In class, we used the associative property to show that when 6 is a factor, then 2 and 3 are factors,
because 6=2 x 3. Use the fact that 8 = 4 x 2 to show that 2 and 4 are factors of 56, 72, and 80.

56=8x7 72=8x9 80=8x10
H¥D)x7 s[xzyx 9 = Gx)x\o
=4x2x7) = 4¥faxa) = 4 x (@x10)
= qyly = 4%\ =4 %20
= 56 =72 =0

4. The first statement is false. The second statement is true. Explain why using words, pictures, or

numbers.
If a number has 2 and 4 as factors, then it has 8 as a factor.
If a number has 8 as a factor, then both 2 and 4 are factors.
Wy 5 3 ey Oy, nusose Yok
2173 47 313 Can Be diUided
-2 - 23 29 xacrly by Can
3 o) “ a\so e dWed by
2%14=23 Yx722% 2 and Y asread
Siwe = 2% 4.
Samp\e.
23 hos 2and 4 as Sockors bu not B. 2
I¥x5=40
(4x)x5=40
'] COMMON | Lesson23: Use division and the associative property to test for factors and ny
I GoRON [ iy engage™ 2
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Name "&.CK Date

1. For each of the following, time yourself for 1 minute. See how many multiples you can write.

a. Write the multiples of 5 starting from 100.
162,108, 110 115,120,125, 120, 139, 140, 145, |50, 155 (160,
165,170,015, 180,195, \90, 195", 200, 20¥,2\0
b. Write the multiples of 4 starting from 20.
20,24, 2%, 32 ,36,40,44,4%,52%,5¢, €O, ¢4, ¢$5,73 76,30,
$4.%%,92,96, too, 1oy 163, 112 )¢, RO

c. Write the multiples of 6 starting from 36.
36,42,4%, 84,60, 66,72, 7%,34,90,96 102 \0%, WY o,

126, 132, 133 144, 150,156, 162, 165, \74, 130

2. List the numbers that have 24 as a multiple.

1,2,2,4,6,8,12,24

3. Use mental math, division, or the associate property to solve. (Use scratch paper if you like.)

a. Is 12 a multiple of 4? _%e& Is 4 a factor of 12? %g_

b. Is42amuitipleof8? N\O  Is8afactorof 427 _NO

c. Is 84 amultiple of 6? _1615 Is 6 a factor of 84? _%5_

4. Can a prime number be a multiple of any other number except itself? Explain your reasons why.

. QA pme fumeec I ol\se a ouige. & 1.
L pame number  has Yoo fackorss s and 4

COMMON | tesson2a: Determine whether a whole number is a muitiple of another number. ny
CORE Date: 8/26/13 engag (2] 3.F.33
g This work s licensed under a
® 2013 Common Core, Inc. Some rights reserved. COMUMONCOre.Ong Creative Commons Attribution:| me; -ShareAlike 3.0 Unj icense.





image49.jpg
NYS COMMON CORE MATHEMATICS CURRICULUM Lesson 23 Problem Set

5. Follow the directions below.

a. Circle in red the multiples of 2. When a number is a multiple of 2, what are the possible values for the
ones digit?
g ) L‘)-) (_p ) 8 J O

b. Shade, in green, the multiples of 3. Choose one. What do you notice about the sum of the digits?
Choose another. What do you notice about the sum of the digits?

The sum of e digifs 1s aleo g muthple of 2

c. Circle, in blue, the multiples of 5. When a number is a multiple of 5, what are the possible values for
the ones digit?

b and. O

d. Draw an x over the multiples of 10. What digit do all multiples of 10 have in common? What is the

digit?
They all have a zero in the pres place. -
II ggf\R/}EMON I';easts;n 23: z/e;;:;ine whether a whole number is a multiple of another number. engage ny

[@)ev-ncsa This work s licensed under a
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Name JOCK Date

1. Follow the directions.

Shade the number 1 red.

a. Circle the first un-marked number.

b. Cross off every multiple of that number except the one you circled. If it's already crossed off, skip it.
c. Repeat Steps (a) and {b) until every number is either circled or crossed off.

d. Shade every crossed out number in orange.

FRICIESEES
gty
%
3

S
%

REEEEEEEE

.

¥ ®

s
€& ®

CEICIE
MiCERICEIRIICIE

£
#®
GG
=3
EEE
WiR|®
s
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2O

£
%

*
»
%
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B3
%
»
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2. List the circled numbers.
25,5,7 AN E) 2\, 2329 3\,37, 41,13, 47,593,959, 6\, 67,71 73

7,3 3 ‘69 a7
a. Why weren't the circled numbers crossed off along the way?

“The cirded flumbers were not Crossed off q\a\Q%Q Wy
oRCause Yhey ase no¥ muARQes ol O.v\& ofne: Noes

bessdes | and Yhemselwes.

b. Except for the number 1, what is similar about all of the numbers that were crossed off?

“The crossed off AumitesS axe all Compomie numbers

c. What is similar about all of the numbers that were circled?

The cicdled numdoecs oxe a\ prime. Qumboers.

COMMON | tessonzs: Explore properties of prime and composite numbers to 100 by using ny
- 3.F44
SN [ engage
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1. Determine the perimeter and area of rectangles A and B.

P-2x(1¥w)
P=2x b A q
P=383 L

2. Determine the perimeter and area of each rectangle.

a. 6cm b.

5cm pP= a’(Qam

p:;lx(ww) Azm%ﬂm

P ax
p-24 A-|xW A=(xB3D

3. Determine the perimeter of each rectangle.

a. 166 m b.

Lesson 1 Problem Set

Date

Za«(1+w)

P=4= 15

P=20 +i3
A0

A=lxW
A= AXL

A %%n&un&s A= 54

p= 5{ ) “ﬂb
8cm P= élgggzm

1m50cm

I

16l 450em
P:ax(\-lfw) Fabh 265 + lijlg(',m Z?gg p:Ll-éO
_ 230 om %
Pz 2x3LH=530 >° 425 50
I§ gg%MON D::::‘ - %\é%s;‘;%aese ana use e formulas Tor area ana perimeter O engageny ] 3'7A:g’
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1. Draw number disks to represent the following problems. Rewrite each in unit form and solve.

n o2 OO OO

6ones+2= 5 ones

b. 60:2=_20 e OGE®
6tens+2= 55235

¢ owgie3ED ERERED ERER (D

2. Draw number disks to represent each problem. Rewrite each in unit form and solve.
a. 12+3=

120nes+3=__ H ones m m m®®

b. 120+3=_H4O OEE®
12 Yens :3=__ 4 Yeas CEE®

¢ 1,200+3=_H400O_
12 hundeeds o3 Y undceds

EEE® EEEE®

I COMMON | Lesson 26: Divide multiples of 10, 100, and 1,000 by single-digit numbers.

CORE | Date: 8/26/13 eng ag e ny 3.G.10
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3. Rewrite each in unit form. Solve for the quotient.

a. 800+2=400 b. 6002 c. 800:4 d. 9003
8 hundreds +2 = 6 hundceds 22 | Wuvdreds =Y = | q undreds 32
hundreds 3 hundreds 2hundeeds | B hundeeds
e. 300:+6 f. 240:4 g. 450:5 h. 200:5
Ydens+Y =  [4Stens> 52 (20 ¥ens=5=
30tens+6=_5 tens
G Yens q Yens Y Yens
i. 3,600:4 J. 2,400+4 k. 2,400:3 l. 4,000+5
36hundreds=4= | A4 hund@sy = Mundds 3 Yo \N.u\ﬁfﬁdﬁ'l—S 2
j_ hundreds [ \M-u’\&% B \I\UX\A(EQ\S 8 k\uﬁ(’GL\S
4. Some sand welghs 2,800 kilograms. It is divided equally between 4 trucks. How many kilograms of sand
are in each truck?
2% hundeeds = 9 = 7 huedeeds
“There ace 70O \C?\oarams of Sand tn eadh Yruck.
5. vy has 5 times as many stickers as Adrian has. lvy has 350 stickers. How many stickers does Adrian have?
35 dens = 5= 7 tens
Gdcton has 70 Shdeecs
6. An ice cream stand sold $1,600 worth of ice cream on Saturday, which was 4 times the amount sold on
Friday. How much money did the ice cream stand collect on Friday?
16 hundeeds T4 = 4 hundeeds
“The we cream Sand Collecked ¥HOO on &t &6 .
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Name Date
1. Divide. Use number disks to model each problem.
a. 3242 b. 344:2 \Wundceds| dens | ores
- dddé #
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c. 483+3 d. 549:3
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2. Meodel using number disks and record using the algorithm.

a. 655+5
Number Disks Algorithm \3 \
Nundeeds| Yeos mz 5_‘ 5655
Vg L4 bff |¢¢ Y ——
adddirry Lhundeed 15
~ cer o § 3dens =\3) ~15
. . (fo o8
: —1 - 5
: PR o)
°er |
e T
b. 726+3
Number Disks Algorithm 242
3
hundeeds |Yens | O3S —ZZG
IYPEY |Ff L 12
s AT £ ~\2
sirel L ; z\:\\:nbmh.s A
4 LR il Yrens =242 -
—Teeee .. 2 oneS —-—%—-
c. 688+4
Number Disks Algorithm | 71
Wandeeds | Yens | ones 41638
“Foree feb \bpebs -t
e 3
5556 -
g 23
verp
Yyed® \ —
’ ::'... \= E_}‘&“A__ \72 [0}
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= : :: en® ee o
o :: LR N 3 -
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oate.

1. Divide. Check your work by multplying. Draw disks on  place value chart as needed.

a 57432

kX 2
2[5 %3
17 574 v
Juil [ 2
19
b
[=]

' k=1

ug
x 3
354V
Q=13
R=)
_,73 03 872 :S_H, R
CrAEL - “g
S A Ty
-3 anaw =i 3
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4. Given the rectangle’s area, find the unknown side length.

& 8 cm A:wa B e A= LAW
% A= BxW © | AW
square xcm 80:8)( X square 1_4q:"lxx

cm
cm

X=10 =1
x=_ 10 #= 1

5. Given the rectangle’s perimeter, find the unknown side length.
a. P=120cm 20cm b. P=1,000m
P-aLraw xm
P=aLraw xem  AWeRBO+ABO =D room
AL= 20150 =4O 1,000 = 4L+ BOD

|30 4O + Aw Looo 5OD: AL

- "ROO
130 O 40 &0 x-_350
0 R0=L=W dO=W 500+2:=L A50:=L

6. Each of the following rectangles has whole number side lengths. Given the area and perimeter, find the
length and width.

24
w= Iam square,

m

square
cm

Lrw) g Ax(irw) | ‘fo’:_gx ;.;rwz
a \ =% | s

B0t Bhe Vs P-4k NO .
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Q=al
e @22 |noeses o) oy
& 55
>Ts 9L 173 s[5 9, M
g. =3 + 2 R
™ Y12 275« - 5
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2 R4
i 51|:1l c(,%qn ;‘14"72 b g
e g 1455 2B 952
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2 e
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2. Zach filed 581 one-liter bottles with apple cider. He distributed the bottles evenly to 4 stores. How.
mmmmqs dld each of the stores receive? Were there any bottles left over? 1fso, how many?
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nome _ Jacl, oate
1. Divide, thencheck using mtiplction.
5 167244 b 157844 30 A9 596
q iy
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159) T
g 7,955+5 5‘@ X_:T\é b 75T8S 5__;—5_1 9 7870
E_Te | B e
e 2o Oipid
== 4 =4
i 7,459+33__77-:qu = 1 osssees Y %qb(" FZﬂs?'{
& 7907 Ay =
28  Q=24®M E
27 P ’_Bg_

2. There are twice as many cows as goats on a farm. All the cows and goats have

R Qs
3279
-27
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o
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- Date
Divide. Check your solutions by multiplying.
1 204+4 2. 704:3 2_‘5!-‘ R?— 9\3&‘ 701
housdeels|dens [ones 3700 2,3t
e O R = v
= A T
LD S sdens (o)
— e | E =51 -'q
_________'"_:._:__. - \one ] R=234
_ 1 s} rs =2
LAALLE x 9 2
] seseo ‘ . zo‘f v
3. 627+3 4. 407+2
209
3627 ,m hundeds| Yens | oneS Q=203
b 3 FeEpry Q=
oL 27v ©
- 0 R oo
23 S
- 2 . e s
o | (203 ok
o6 o7V
5. 760+4 l“] 6. 5,1zo+47_<3
190 \ \ 230
Y Zco r, 4 415120 « 4
1. tov -4
A T 528V
"3 -8 —
00 32
- o 52
O o0
0.
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7. 3,070+5 G ‘L’
5[3 070 Gl
-~ 30 x S

(7] 55,070 v

11.

a. Find the quotient and remainder for 3,131+ 3.

a=1,0
=2

Lesson 30 Problem Set

8. 6,706+5

134 ] &\
5[ ¢706 4. (705
..5 * 5 + \
_@ %—5 706 v
20
-20 Q: \,?)L”
.°% =\
\
10. 9,008+3 5 OQ—RZ
AT® 2 q000
j—" *x 3 +
"og O\’Ooé th?\/
(o]0
=0 R=3,002
o R=2
10M3 e 2
3133\
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b. How could you change the digit in the ones place of the whof&%0 that there would be no remainder?

Explain how you determined your answer. T2 T C\'\(L

e é\@:: Ta Yhe ones

Q\ece Yo a 2, there would e no- remarnderbecause Yhe \ost

SYep would be 1253 wwidy \Was

1=23=4_. L Could a\so
15-2=5 and

Solve division problems with a zero in the dividend or with a zero in
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